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Group Quiz (#1-7: 10 pts each)
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X — X * X +¥% - l la. Find the quotient when x®+ x% +x% =1 is divided by (x +1) éﬂ/ﬁ-’
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X ~ )( t Q\X +L’ + ;2)('3 2. Divide using synthetic division (2x" —5x* + 7x* + 2x + 4) + (2x = 3) i ’\/
X +9\X -5% + l 3. Divide using long division (2x° + 7x" ~ 8x* — 21x* + 23x — 4) + {2 +3x~4)

4. Find a polynomial in standard form of degree 4 such that 3 of its zeros are i, 1, and -2 and so that P{0) = -8.

Rx)= Y xq“/x{‘%xav‘*‘/x —&

5. Writé the equation of the graph in factored form.
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List all possible rational roots (4 pts): i _.o'?) - C/ ) * 5 - g) /D) — Q 0} * ({D

Find the roots {4 pts): \ g 5 L'{
7. Graph: f(x)= E(x -~ 4)(x +3)x—1)° " A
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8. Expand using PascaIsTrlangIe (2x 3y)4 (8 pts)
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9. Find the term containing x* in the expansion of (3x*+ Z) (6 pts) - Y
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(#10 & 11: 8 pts each) = /5/ X ¥
10. The volume of a tin of assorted chocolates is 150 cubic centimeters. The tin is 8 centimeters Iongerthan it is wide and
4 times longer than it is tall. Find t_r!}e d|mensionsofthetin.’R9_l£19_to_ggg;gshL_;gpLh. Pl
Defmeavarlable(s) h=heigh \—”Q
X = lcng Vel =0 - w
Write an equation(s): bo =0t dih, /Q w+g UU T?
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Explain how you got the solution from the equation: A % (‘U.H"Eb w(w#‘é’\ = (GO
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State the solution: l e % £
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11. Find 3 consecutive even numbers such that the difference between the square of the third and twice the square of the

firstis 32, st
= 7 even ¥ ok (,&p@%
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Define a variable(s): %ﬁi' h“i\d_ Con. edW\ B(

Write an equation(s): (7( +lh . 9\('7(\ - 3&

Explain how you got the solution from the equatlon X =
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State the solution:
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